H A NV RA — Y — 7 8 & H & - 2
R— LT — EUH—F— 4 O
S — - N — - RET T
[A]v=—ts=rsrs~=azyrrv s Fam [B] j(é\g| S AAE] B AR — 7R RS LA1WAS
" B b 20204E2 A 11 H (%) | 29 BB TESREE
24 ( ) 21 moom | man | msx ]| e A
10 — 9
A AT AT A 7mAn— Jg—vba—n | EAGEH | R| K| [A v = = m ] baze AV =—] % F]| Broa
semsmsrsemrrrro| A [ nT | il [ vat | R [ vt || B || FTETE we i LA 5 | [ [ [ | g | O [ | 8
BR[O = — g— — — Bl x| ™ P xlelellw]els|"W s
L km Z=%7 7 1] 038 4 15] 0 [46
O2[lg mEr | 2 / 2 2 /2 4 212 2 291 {161 1157
MR SRl 5 10 | 5 10 - ! . e N H
- = 6 31321 21017 4[3[M®
LTS 1 1 1 1 1 4420 5 5714 2
JIF A2 3 7 3 7 4 51 4|53 24 18] 7 |33
RS Vbt 4 4 4 4 4 |58 T 86|15 11
10 R TR 0 ! ° ! 23 O g ? ?3 M) s |18 7 19 g ég 5 .
13 ipﬁwm%@ 1 5 1 5 7 8| 8|18 5 20| 10 57
L i HEfE 8 |54 2 2 1|10]17 11
18 |28 HuE 24 9| 911 13]59] 18 11
19 |IBA M 10,013 7 7 21| 15| 24
20 | 10]45] 4 2|1 2]|0Of22]17 44| (D)
0 s mK 6 10|12] 1 6 23|21 6
1511 5 4 21| 7 T
24 |far R 6 | 4 6 16| 6| 6 11 2225 19 7
29 & AR 1 1|3 8 | 4 9 T 16| 7 24|39 20 2
1 11| 16] 35 26 | 35| 21 11
w A B 3 3 | 21 42 | 24 45 [o]o]o]| |13 12117143 24 2412720
No |7mTBHIL /TmTiek] = | rsbi: / Fs@¥c | = |7=771—p }g ‘21? ; 121
1 13 34 | 0.382 50 231 o 1
L 0 29 13| 21 59
" 22139 10 6
HALT TN 23140 11 11
T 26| 1|12 19
aat| o 0 - 13 34 [0.382 ) % 2 14129 36
B EVI—F—L TmAR— TA=MET=0 | EANEEE || R |k
PRIN= /T | s ) vash | vah |||
=S PSS ) e — _
1 |'= #wE
2 |WaE FE 9 9
O4|&HHE &7 10 10
5 |HEA& Hon
6 |[&FH EE 1 8 1 8
7 AW WA 2 7 2 7
8 |VEE BHR
10 [T HEA
11 |2l FER 9 10 9 10
12 |BHA &
13 |{TiE £+
14 s v 0 1 0 1
15 "R T4
16 |¥ED 3
18 |(Htn EhE 0 0 1 1
19 |[t@H dilE 1 2 1 2
w o 3t 0 0 | 21 48 | 21 48 [o]1]o
— —— —— u “u — 12 24 — 21
No |7mTRHIE / TmTH##] % FSRH. 1 FSHa#k s 77 V=P
1 0 3 loooo| 14 28 | 0.500
FH YE)I WifE B 14] 7
5 . w Toon| 2 | IR s T | 14]
g 16 G| AT AT A7 AT
ZALTIN |1 “F—LMAB OO, IO
— V4 N2Ea ey = . Au—F T F—LERT,
aE [ 1] |7 |REY -7 EA: CRFMER KOO, * 77 B AT,
A= gL - s A ra— B L OREEL - R -
Xl 0 3 0.000 14 35 0.400 | #4 | 1 JHL Running Score Ver. 3.20.58 %fgé%ﬁ:ﬁl:ﬁkgiﬁ Lr




